CS 1 Quiz 10-1-2021
Name: ___________________________
I. Matching (1 point each)
1) ___ !
2) ___ Math.sqrt()
3) ___ \n

4) ___ String
5) ___ .println

6) ___ int

7) ___ double

8) ___ boolean

9) ___ =

10)__ = = 

11) __ !=

12) __
&&

13) __  ||

14) __ %

15) __ /

16) __ Scanner

17) __ /*  */
18) __   //

19) __ .print
20) __ Math.pow()


a) A type of variable that stores numbers.
b) Is assigned the value of

c) Integer division

d) A class needed in order to create an object that is used to get input from the user.

e) Logical OR

f) Used to add multi-line comments.

g) Used for showing information on the screen and returning to the next line.

h) Is logically equal to 

i) Used to find the remainder of integer division. (MOD)

j) Logically NOT EQUAL TO 

k) A type of variable that stores numbers with decimals.

L) Logical AND

m) A type of variable used to store numbers without decimals.

n) Used for adding one-line comments

o) Logical NOT
p) The escape sequence for adding a new line.
q) A type of variable that is either true or false.
r) Used to find the square root of a number.
s) Use to calculate exponents.

t)  Shows information on the screen and stays on the same line.

II. Short Answer (2 points each)
1) What is the difference between if and if else?

2) What is the difference between System.out.print and System.out.println?

3) What should be included in the header of a program?

4) What does the following code fragment write on the monitor? 
int sum = 14;

if ( sum < 20 )

  System.out.print("Under ");

else

{  
  System.out.print("Over  ");

  System.out.println("the limit.");

}
5) What does the following code fragment write on the monitor?

int sum = 20;

if (sum < 20 )

  System.out.print("Under ");

else

{  
  System.out.print("Over  ");

  System.out.println("the limit.");

}
6) What does the following code fragment write on the monitor?

int sum =  21; 

if ( sum != 20 )

  System.out.print("You win ");

else

  System.out.print("You lose  ");

System.out.println("the prize.");
III. Find the result (2 points each)
1) ___47 + 2*3
2) ___12 % 3 + 18 /5

3) ___ 5*2 + 10*3

4) ___  6*(1 + 4) - 8

5) ___ Math.pow( 2, 3)
VI. Translate the following from math to Java (assume single letter variable names)(2 Points each)
a)
_______________________
(1/2) (b + c)(h)
b)
_______________________
ax2 + bx + c


c)
_______________________
√ ((x-a)2 +(y-b)2)


d)
_______________________
-b + √(b2 – 4ac)  
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VII. Fix the following program.  It is supposed to find the average of three numbers.(5 points)
public static void main(String args[]) 

{    

         Number1, number 2, The average:integers.

         start

         writeln("Please enter a number')

         getTheNumber(Number1);

         Show('Please enter another number'

         getTheNumber(two)



 And enter that third number

         number1+number2+ number 3/2 = average

         Show The average is average

 }
VIII. Write the code for one of the following by hand. (Start after the public static void main(String args[]) and you do not need to include 

      Scanner input = new Scanner (System.in);

       (Write on the back of the page) (10 points)
1) Chirpy
a. Input: The number of chirps per minute

b. Output: If the temperature is > 70 degrees tell the user it is warm.

c. Process: temperature = chirps/4 + 37 (Source: Library of Congress)

i. Example:  80 chirps

ii.  Temp = 80/4 + 37 = 20 + 37 = 57 degrees -> No comment

iii. Example: 160 chirps

iv. Temp = 160/4+37 = 40 + 37 = 7 degrees -> “It is Warm”

2) Conversion

a. Input: The X and Y coordinates of two points.  (X1, Y1) and (X2, Y2).
b. Output: The distance between the points

c. Distance = √ ((X2-X1)2 +(Y2-Y1)2)
d. Example:  x1 = 10, y1 = 16, x2 = 12, y2 = 18
e. Distance = √ ((12-10)2 +(18-16)2) = √ (4 + 4) = √ 8 = 2.8 
3) On Target
a. Input: The distance a person throws a javelin

b. Output: Whether they throw accurately enough to hit the target

c. Info.: The person needs to throw within 5 feet of 50 yards to hit the target
i. Example: Distance = 60  Miss

ii. Example: Distance = 50   Hit

iii. Example: Distance = 55  Hit

iv. Example: Distance = 44  Miss

